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Repeated Measures Analysis of Variance (sf36my.sta) Over-parameterized model Type III decomposition 

 
SS Degr. of - Freedom MS F p 

Intercept 5097975 1 5097975 58296,139 0,00000 

Group 389754 1 389754 4456,901 0,00000 

Error 25973 297 87 
  

R1 315954 3 105318 1143,307 0,00000 

R1*Group 53846 3 17949 194,845 0,00000 

Error 82076 891 92 
  

 

R1*Group; LS Means

Current effect: F(3, 891)=194,85, p=0,0000

Type III decomposition

Vertical bars denote 0,95 confidence intervals
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R1*Group; Unweighted Means (sf36my.sta) Current effect: F(3, 891)=194,85, p=0,0000 Type III 
decomposition 

 
Group R1 DV_1 - Mean DV_1 - Std.Err. DV_1 - -95,00% DV_1 - +95,00% N 

1 1 PF1 18,81757 1,017266 16,81561 20,81953 148 

2 1 PF3 32,87162 0,903682 31,09319 34,65005 148 

3 1 PF6 61,52027 0,591143 60,35691 62,68363 148 

4 1 PF12 75,74324 0,507138 74,74520 76,74128 148 

5 2 PF1 66,42384 1,007110 64,44187 68,40582 151 

6 2 PF3 82,61589 0,894660 80,85522 84,37657 151 

7 2 PF6 91,62252 0,585241 90,47077 92,77426 151 

8 2 PF12 92,71523 0,502075 91,72716 93,70331 151 

 



Tukey HSD test; variable DV_1 (sf36my.sta) Approximate Probabilities for Post Hoc Tests Error: 
Between; Within; Pooled MS = 90,950, df = 1187,4 
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1 1 PF1 
 

0,000032 0,000032 0,000032 0,000032 0,000032 0,000032 0,000032 

2 1 PF3 0,000032 
 

0,000032 0,000032 0,000032 0,000032 0,000032 0,000032 

3 1 PF6 0,000032 0,000032 
 

0,000032 0,000257 0,000032 0,000032 0,000032 

4 1 PF12 0,000032 0,000032 0,000032 
 

0,000032 0,000032 0,000032 0,000032 

5 2 PF1 0,000032 0,000032 0,000257 0,000032 
 

0,000032 0,000032 0,000032 

6 2 PF3 0,000032 0,000032 0,000032 0,000032 0,000032 
 

0,000032 0,000032 

7 2 PF6 0,000032 0,000032 0,000032 0,000032 0,000032 0,000032 
 

0,976083 

8 2 PF12 0,000032 0,000032 0,000032 0,000032 0,000032 0,000032 0,976083 
 

 


